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10th Class - General Knowledge (kÕ<Ûës¡D $wüj·T |ü]C≤„q+)

1. Á|ü|ü+#·+˝À $d”Ôs¡í+˝À n‹ ô|<ä› q~ @~? ( )
What is the largest river in the world?

(A) HÓ’\T (B) >∑+>± (C) ÄyÓTC≤Hé (D) ÁãVü≤à|ü⁄Á‘·
(A) Nile (B) Ganga (C) Amezon (D) Bramhaputhra

2. GST |üP]Ô ù|s¡T @$T{Ï? ( )
What is the full form of GST?

(A) >∑÷&é ùd˝Ÿ‡ {≤´ø˘‡ (B) >±&é düØ«dt {≤´ø˘‡
(A) Good Sales tax (B) God Service tax

(C) >∑÷&é‡ n+&é dü|ü¢jYT {≤´ø˘‡ (D) >∑÷&é‡   düØ«dt {≤´ø˘‡
(C) Goods and Supply tax (D) Goods and Service tax

3. ªªÁ|ü» Ò̋ eTT+<äTµµ ù|s¡T‘√ Ä+Á<Ûä Á|ü<˚XŸ Á|üuÛÑT‘·«+ ÁbÕs¡+_Û+∫q |òæsê´<äT\ ø±˝Ÿ ôd+≥sY HÓ+ãsY m+‘·?(   )
What is the complaints call centre number, which was recently started by Andhra

Pradesh Government by the name “People First”? ( )
(A) 1100 (B) 1200 C) 1300 (D) 1122
(A) 1100 (B) 1200 C) 1300 (D) 1122

4. Á|üdüTÔ‘· ̋ Àø˘düuÛÑ d”Œø£sY mes¡T?
Who is present Loksabha Speaker? ( )
(A) MTsê ≈£îe÷sY (B) düT$TÁ‘ê eTVü‰»Hé
(A) Meera Kumar (B) Sumithra Mahajan

C) ìs¡à˝≤ d”‘êsêeTHé (D) yÓ+ø£j·T´ Hêj·TT&ÉT
 C) Nirmala Sitaraman (D) Venkaiah Naidu

5. C≤rj·T $<ë´ ~H√‘·‡e+qT m|ü⁄&ÉT »s¡T|ü⁄≈£î+{≤s¡T?
When we celebrate “National Education day”? ( )
(A) qe+ãsY 14 (B) ôdô|º+ãsY 5 C) e÷]Ã 23 (D) qe+ãsY 11
(A) November 14 (B) September 5 C) March 23 (D) November 11

6. >∑T+&ÓqT >∑T]+∫ n<Ûä́ j·Tq+ #˚ùd XÊÁdüÔ+ @~?
What is the Study of Heart? ( )
(A) q÷´sê\õ (B) ôV≤eT{≤\õ C) ôd’ø±\õ (D) ø±]¶j·÷\õ
(A) Neurology (B) Hematalogy C) Psychology (D) Cardialogy

7. uÛ≤s¡‘· <˚X¯ C≤rj·T ^‘·+ @ uÛ≤wü̋ À bı+<äT|üs¡#·ã&ç+~?
The national anthem of India was composed in which language? ( )
(A) u…+>±* (B) Væ≤+~ C) dü+düÿ è‘·+ (D) ‘Ó\T>∑T
(A) Bengali (B) Hindi C) Sanskrit (D) Telugu
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8. á ÁøÏ+~ @ dæìe÷˝Àì Hêj·T≈£î&ç (V”≤s√) øÏ nMTïwæj·÷ (eT‹eTs¡T|ü⁄) düeTdǘ  e⁄+~?
In which of the following movie, the hero has amnesia problem? ( )
(A) eTVü‰qTuÛ≤e⁄&ÉT (B) uÛÑ̋ ÒuÛÑ̋ Ò eT>±&çy√jYT
(A) Mahanubhavudu (B) Bhale Bhale Magadivoy

C) C…’\e≈£îX¯ (D) ø±+#·q
C) Jai Lava Kusha (D) Kanchana

9. u≤´+ø±ø˘ nH˚~ @ <˚X¯+˝Àì q>∑s¡+?
Bangkok is located in which country? ( )
(A) <∏ëjYT˝≤´+&é (B) ÇsêHé C) dæ+>∑|üPsY (D) eT Ò̋wæj·÷
(A) Thailand (B) Iran C) Singapoor (D) Malaysia

10. mìï ø±´s¡≥¢ ã+>±sêìï dü«#·Ã¤yÓTÆq ã+>±s¡+>± uÛ≤$kÕÔs¡T?
How many carrots gold is called as pure gold? ( )
(A) 24 (B) 12 C) 100 (D) 36
(A) 24 (B) 12 C) 100 (D) 36

y˚T<Ûë dü+ã+~Û‘· Á|üX¯ï\T ` (I.Q.)

11. CAT = 24, DOG = 26 nsTTq TIGER =  ?
If CAT = 24, DOG = 26, then find TIGER =  ? ( )
(A) 59 (B) 67 C) 72 (D) 48

12. 72 >∑+≥\˝À >∑+≥\ eTT\T¢ mìï #·T≥T¢ ‹s¡T>∑TqT?
How many rounds moves the hour hand of a clock in 72 hours? ( )
(A) 3 (B) 9 C) 12 (D) 6

13.        düeTkÕ´ ∫Á‘·+ <ë– e⁄qï ∫Á‘·+qT >∑T]Ô+#·+&ç?

Which of  the following has including the problem figure           ? ( )

(A) (B) C) (D)

14. y˚s¡T>± e⁄qï<ëìì >∑T]Ô+#·+&ç?
Find out the odd one? ( )
(A) Cyclone (B) Air Pressure C) Storm (D) Typhoon

15.                  ∫Á‘·+˝À Ç$T&ç e⁄qï Á‹uÛÑTC≤\ dü+K´ m+‘·?
                          Find the number of triangles? ( )
(A) 25 (B) 12 C) 28 (D) 14

16.

(A) 20 (B) 52 C) 32 (D) 10

7 5

24

8 6

28

6 4

?
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17. (A) (B) C) (D)

18. á ÁøÏ+~ |ü<ë\qT ì|òüT+≥Te⁄ Áø£eT+˝À neTs¡Ã+&ç?
Arrange the following words as per dictionary? ( )
(A) Critical (B) Criterion C) Crisis (D) Crisp

(A) 3421 (B) 1342 C) 3412 (D) 4312

19. 9 s√E\ ÁøÏ‘·+ sêeTT dæìe÷øÏ yÓfi≤fl&ÉT. n‘·&ÉT >∑Ts¡Tyêsê\T e÷Á‘·y˚T dæìe÷øÏ yÓfi¯‘ê&ÉT. nsTTq á s√E
yês¡+˝À @ ~q+? ( )
Ramu went to a movie 9 days ago. He went to movies only on thursdays. So what is

today?

(A) X¯óÁø£yês¡+ (B) Ä~yês¡+ C) X¯ìyês¡+ (D) k˛eTyês¡+
(A) Friday (B) Sunday C) Saturday (D) Monday

20. ˇø£ ‘·s¡>∑‹˝À sêE jÓTTø£ÿ sê´+≈£î ∫e] qT+&ç 22 eT]j·TT yÓTT<ä{Ï qT+&ç 14e~. nsTTq Ä ‘·s¡>∑‹˝Àì
yÓTT‘·Ô+ $<ë´s¡T∆\ dü+K´ m+‘·? ( )
In a class, Raju’s rank is 22nd  from last, 14th from first. Then find the total number of

the students in the class?

(A) 36 (B) 34 C) 35 (D) 22

ENGLISH (10 Marks)

21. Choose the most appropriate one word substitute for the given sentence. ( )

“One who believes in existence of god”

(A) Feminist (B) Atheist C) Fatalist (D) Theist

22. Choose the alternative, which best expresses the meaning of underlined idiom.

The eldest son got the Lion’s share of the ancestral property. ( )

(A) Minor Part (B) Major Part C) Equal Part (D) None

23. Heading (Place & Date) of a letter placed on .............. ( )

(A) left side of the top corner (B) Right side of the bottom corner

(C) Left side of the bottom corner (D) Right side of the top corner

24. Identify the correctly binomial word. ( )

(A) Bread and butter (B) More or less C) Step by Step (D) All above

25. Fill in the blanks with appropriate article. ( )

“.................... Everest is .............. highest peak”

(A) The, the (B) The, no article

C) No article, the (D) No article is required for either of the blanks.

26. Use the correct verb form in the given sentence. ( )

“We .......... each other for 10 years”.

(A) Known (B) have known C) are knowing (D) had been knowing

?
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27. Fill in the blanks with suitable verb forms. ( )

“After I ................ the news, I ............. to see him.

(A) had heard; hurried (B) has heard; hurry

C) have hearing; hurried (D) Will hear; hurry

28. Pick out the adverb clause in the given sentence. ( )

“Because you have done this, you will be punished”.

(A) You will be punished (B) Because you have done this

(C) You have done this (D) Because you will punished

29. Find out the wrongly compound adjective in the following words: ( )

(A) Radish - gray (B) Double - faced (C) Cold - blooded (D) Open-minded

30. You have to learn how to manage yout time. ( )

To get the opposite of the underlined word, we use which of the following prefix.

(A) dis (B) un (C) mis (D) In

JeXÊÁdüÔ+ BIOLOGY (10 Marks)

31. øÏs¡D»q´ dü+jÓ÷>∑ ÁøÏj·T˝Àì ø±+‹ #·s¡́ \T »]π> Á|ü<˚X¯+ @~?
Light reactions in photosynthesis takes place in? ( )
(A) Vü≤]‘· πsDTe⁄˝Àì Á>±Hê (B) Vü≤]‘· πsDTe⁄˝Àì Äe]íø£
(A) Grana of chloroplast (B) Stroma of chloroplast

C) yÓTÆ{Àø±+Á&çj·÷ ‘·«#·+ (D) @Bø±<äT
C) Mitochondrial membrane (D) None of these

32. s¡ø£Ô+ >∑&É¶ ø£{ºø£b˛e&É+ nH˚~ ÁøÏ+~ yê{Ï̋ À @ »qT´|üs¡yÓTÆq ˝À|üeTTq≈£î dü+ã+~Û+∫q~? ( )
 ........................ is the genetic disorder the blood may not coagulate?

(A) ‘·̋ ≤dæàj·÷ (B) V”≤yÓ÷|ò”*j·÷ C) >∑T+&Ób˛≥T (D) esêí+<Ûä‘·«+
(A) Thalassemia (B) Haemophilia (C) Heart attack (D) Colour blindness

33. Áu…sTTHé &Ó&é nsTTq e´≈£îÔ\ qT+∫ nej·Te<ëq+ #˚ùd $<ÛëHêìï @eT+{≤s¡T? ( )
 The process of transplantation of organs from brain dead patients to another is called?

(A) nej·Te<ëq+ (B) bÕ¢dæºø˘ düs¡®Ø C) Ä+õjÓ÷bÕ¢d”º (D) ø£&ÜesY Á{≤Hé‡bÕ¢+fÒwüHé
(A) Organ donation (B) Plastic surgery (C) Angioplasti (D) Cadaver transplantation

34. e÷qe X¯Øs¡+˝À ˙{Ï düeT‘·T\´‘·, s¡ø£Ô |”&Éq+ eT]j·TT ñc į́Á>∑‘·qT Áø£eT|ü]#˚~ @~? ( )
Which of these is centre for water balance, blood pressure and body temperature in

our human body ?

(A) eTdæÔwüÿ+ (B) eT<Ûä́  yÓT<ä&ÉT C) &Ó’mHé ôd|òü̋ ≤Hé (D) ôV’≤b˛<∏ë\eTdt
(A) Cerebellum (B) Mid brain (C) Diencephalon (D) Hypothalamus

35. á ÁøÏ+~ yêø±´\˝À n~Ûeèø£ÿ Á>∑+~ÛøÏ dü+ã+~Û+∫ dü¬s’q$ @$? ( )
R: ø£s√q] <ÛäeTì jÓTTø£ÿ dü+ø√#· yê´ø√#ê\ ìj·T+Á‘·D   S: Vü≤è<äj·T düŒ+<äq πs≥TqT ô|+#·&É+
Which of  these following statements true about Adrenal gland.

R: Responsible for dilation of coronary axtery      S: Increase heart beat rate

(A) R dü¬s’q~ (B) S dü¬s’q~
C) R dü¬s’q~ S dü¬s’q~ ø±<äT (D) ¬s+&É÷ dü¬s’qẙ
(A) R is correct (B) S is correct

(C) R is correct but S is wrong (D) Both are correct
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36. V”≤˝≤ ø£D+qT ø£qT>=qï~ mes¡T? ( )
He La cell was discovered by ....................?

(A) Vü≤s¡>√$+<ä U§sêHê (B) |æ. qs¡dæ+Vü‰sêe⁄
C) yÓT+&É̋ Ÿ (D) yê≥‡Hé
(A) Haragobind khorana (B) P. Narasimharao

(C) Mendel (D) Watson

37. |ü≈£åî\≈£î, düØdüèbÕ\≈£î eT<Ûä́  dü+<Ûëq ùd‘·Te⁄ @~? ( )
The connecting link between aves and reptiles are ?

(A) &Ó’H√kÕsY (B) ø±øÏ C) Ä]ÿjÓ÷ô|º]ø˘‡ (D) Äs√∆ô|º]ø̆‡
(A) Dinosaur (B) Crow (C) Archeopterix (D) Arthopterix

38. ªJyêes¡D |æs¡$T&éµ nqT |ü<ëìï yÓTT<ä≥>± |ü]#·j·T+ #˚dæ+~ mes¡T? ( )
“Ecological pyramid” is first introduced by ..........  ?

(A) #ê¬s¢dt &Ü]«Hé (B) yÓT+&É̋ Ÿ C) ̋ …y=sTT»sY (D) #ê¬s¢dt m\ºHé
(A) Charless Darwin (B) Mendel (C) Lavoiser (D) Charless Elton

39. dæÁs√dædt nH˚ yê´~Û øÏ+~ yê{Ï̋ À @ nej·TyêìøÏ dü+ã+~Û+∫q~? ( )
Cirrohsis is a disease that effects which among the following organs?

(A) eT÷Á‘·|æ+&É+ (B) ø± Ò̋j·T+ C) ø√¢eT+ (D) ∫qï Áù|>∑T
(A) Kidney (B) Liver (C) Pancreas (D) Small intestine

40. bǫ̀ *ø˘ ÄeT¢+ ˝À|ü+ e\q e#·TÃ yê´~Û @$T{Ï? ( )
Def fieciency of Folic acid causes....?

(A) nì$Tj·÷ (B) ô|˝≤¢Á>± C) >±¢ôd’{°dt (D) ]¬ø{Ÿ‡
(A) Anaemia (B) Pellagra (C) Glossitis (D) Rickets

>∑DÏ‘·+ MATHEMATICS (40 Marks)

41. Tanθ Cosθ = Cot 2θ. Sin 2θ nsTTq θ = ............... ( )
If Tanθ Cosθ = Cot 2θ. Sin 2θ, then θ = ...............

(A) 00 (B) 300 (C) 450 (D)  600

42. A +B = 900 nsTTq Sin2 A + Sin2 B = .............. ( )
If A +B = 900 then Sin2 A + Sin2 B = ..............

(A) 0 (B) 0 (C) 
1

2
(D)  

1

2

43. Cosecθ - Cotθ = 4, nsTTq Cosec θ. + Cot θ = ............... ( )
If Cosecθ - Cotθ = 4,  then Cosec θ. + Cot θ = ...............

(A) - 4 (B) 

1

4
−

(C) 4 (D)

1

4

44. A, B \T X̄SH̊´‘·s¡ dü$T‘·T\T. 

B A⊂

 nsTTq B-A  = ............... ( )
If A,B are non - empty sets. If 

B A⊂

 then B-A = ..........

(A) A (B) B (C) φ (D) 

A B∩

45. A = {1,2,4,5}, B = {2,3,4,5} nsTTq n (

A B∩

) = .................. ( )
If A = {1,2,4,5}, B = {2,3,4,5} then  n (

A B∩

) = ..................

(A) 2 (B) 3 (C)  4 (D) 5
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46. n (A-B) = a, n (

A B∩

) = b, n(B-A)=c  nsTTq n ( AUB) = .......... ( )
If n (A-B) = a, n (

A B∩

) =b, n(B-A) =c then  n ( AUB) = ..........

(A) a + c + b (B) a + c - b (C)  a + c + 2 b (D) a + b - c

47. logx + log (1.5) = log (x + 1.5), nsTTq x = ................... ( )
If logx + log (1.5) = log (x + 1.5), then x = ...................

(A) 1.5 (B) 3 (C)  4.5 (D) 6

48. log 
10

  0.001 = .................. ( )

(A) - 3 (B) (C)  - 3 (D)  - 2

49. 65, 117 \ >∑.kÕ.uÛ≤ 2n - 1, nsTTq  n = ...................... ( )
The H.C.F. (65, 117) is 2n - 1, then n = ......................

(A) 13 (B)  14 (C)  8 (D)  7

50. x2 - 3x + 1 = 0,  nsTTq x + 

1

x

       =  ......................... ( )

If x2 - 3x + 1 = 0, then   x + 

1

x

     =  .........................

(A) -3 (B)  

10

3

(C)  3 (D)  

1

3
−

51. The mean of 8, 18, 32, 50, 72 is  ......................... ( )8, 18, 32, 50, 72

 \ dü>∑≥T ...........................

(A) 4

2

(B)  6 (C)  36 (D)   

180

52. Quadratic equeation having zeroes 2 and - 3 is ................. ( )

2 eT]j·TT ` 3 \T X¯SHê´\T>± >∑\ es¡Z ãVüQ|ü~ ................

(A) x2 - x - 6 (B)  x2 - x + 6 (C)  x2 + x - 6 (D)  x2 + x + 6

53. α, β, γ  are zero’s of x3 - 6 x2 + 11x - 12, then find the mean of zeros? ..........(   )

α, β, γ \T x3 - 6 x2 + 11x - 12, jÓTTø£ÿ X¯SHê´\T nsTT‘˚ X¯SHê´\ dü>∑≥T m+‘·?...............

(A) 4 (B)  - 4 (C)  3 (D) 2

54. If α, β  are zero’s of x2 - 5 x + 6 = 0, then  α3 β2 + α2 β3 =  ........... ( )
x2 - 5 x + 6 = 0 jÓTTø£ÿ eT÷˝≤\T α, β nsTT‘˚ α3 β2 + α2 β3 = ...............
(A) 36 (B)  180 (C)  - 180 (D) 150

55. 3x  + 2y + 1 =0, 9x + 6y + 1 = 0 represents  ........................ ( )
3x  + 2y + 1 =0, 9x + 6y + 1 = 0 nqTq$ <˚ìì dü÷∫kÕÔsTT.
(A) Intersecting lines (B)  Parallel (C)  Coincide (D) None

(A) K+&Éq πsK\T (B) düe÷+‘·sê\T C) @ø°uÛÑ$+#˚ πsK\T (D) @Bø±<äT
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56. If one zero of p (x) = x2 + kx - 8 is 4, then K = ........... ( )
p (x) = x2 + kx - 8 jÓTTø£ÿ ˇø£ X¯Sq´eTT 4, nsTT‘˚ K = ...........

(A) -2 (B)  2 (C)  -1 (D) 1

57. 2x + 3y = 12, 3x - y =7 düMTø£s¡D≤\ kÕ<Ûäq ............ ( )
The solution of equations of 2x + 3y = 12, 3x - y =7 is ......

(A) (1,3) (B)  (3,1) (C)  (3,2) (D) (2,3)

58. x2 + 7x - 9 = 0 jÓTTø£ÿ eT÷˝≤\T α, β nsTTq α - β = .............. ( )
If are α, β the roots x2 + 7x - 9 = 0 then α - β = ..............

(A) -2 (B)  16 (C)  2    8 (D)     85

59. ˇø£ n+ø£ÁX‚&Ûç̋ À 63e |ü<ä+ 18, 37e |ü<ä+ 12 nsTTq 50e |ü<ä+ ............. ( )
In A.P, 63rd term is 18, and 37th term is 12 then 50th term is ...............

(A) 30 (B)  36 (C)  16 (D)   15

60. 100 eT]j·TT 200 eT<Ûä́ >∑\ 5 jÓTTø£ÿ >∑TDÏC≤\ yÓTT‘·Ô+ ................... ( )
The sum of multiples of 5 between 100 and 200 is ...........................

(A) 2850 (B)  3850 (C)  3450 (D)   4850

61. x, x + 2, x + 6 \T >∑TD ÁX‚&Ûç̋ À ñqï#√ x $\Te ...................... ( )
If x, x + 2, x + 6 are in G.P. then x = ...........................

(A) 1 (B)  2 (C)  - 2 (D)   0

62. y ` nø£åeTT qT+&ç (3, `8) _+<äTe⁄≈£î >∑\ <ä÷s¡+ ................ ( )
What is the distance of (3, -8) from Y - axix ?

(A) - 8 (B)  8 (C)  3 (D)  - 5

63. ˇø£ n+ø£ ÁX‚&Ûç jÓTTø£ÿ n e |ü<ä+ 5`2n nsTTq kÕe÷q´ uÒ<Ûä+ .................... ( )
If nth term of A.P. is 5-2n then common difference .....................

(A) 3 (B)  2 (C)  - 2 (D)  5

64. (a - 2a), (3a, 3a) eT]j·TT (3,1) \T düπsFj·÷\T nsTTq a  R ( )
If (a, 2a), (3a, 3a) and (3,1) are collinear then a =

(A) (B) (C) (D)

65. (3,5), (-4, - 5) eT]j·TT (7,3) osê¸\T>± >∑\ Á‹uÛÑT»+ jÓTTø£ÿ >∑Ts¡T‘·« πø+Á<ä+ .........( )
The vertices of trinagle are (3,5), (-4, -5) and (7,3) then the centroid of Triangle is ........

(A)  (2,1) (B)  (2,3) (C) (3,1) (D)  (-2, -1)

66. (-2, 2), (1, 0), (x, 0), (1, y) \T düe÷+‘·s¡ #·‘·Ts¡T“¤»+qT @s¡Œs¡#·TqT nsTTq (x,y)........... ( )
(-2, 2), (1, 0), (x, 0), (1, y) forms a parallelogram then (x,y) = ..................

(A)  (-4, -2) (B)  (4, 2) (C) (-4, 2) (D)  (4, -2)

67. ˇø£ |òüTq+ jÓTTø£ÿ |òüTq |ü]e÷D+ 3

3

  cm3, nsTTq <ëì ø£s¡í+ bı&Ée⁄ ......... ( )

The volume of a cube is 3

3

cm3, then its diagonal is ...................

(A)   

3

 cm (B)  2

3

 cm (C)  3 cm (D)  9   cm
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68. ˇø£ |òüTq+ jÓTTø£ÿ LSA, TSA eT]j·TT |òüTq |ü]e÷D+ $\Te\T A.P ̋ À ñqï≥¢sTT‘̊ <ëì uÛÑT»+ ...........
Á|üe÷D≤\T ( )

The values of LSA, TSA and volume of a cube are in A.P, then the side of it is ......... units

(A)    9 (B)  10 (C)  12 (D)  8

69. ns¡∆ >√fi¯+, X¯+KTe⁄\T π̌ø uÛÑ÷$T, π̌ø m‘·TÔ ø£*– ñqï~ nsTTq yê{Ï eÁø£‘·\ yÓ’XÊ˝≤´\ ìwüŒ‹Ô ...........
( )

If a Hemisphere, a cone have the same base and same height then the ratio of their curved surface

areas is ...........

(A)    1 : 2 (B)  1 :

2

(C)  2 : 1 (D)   

2

:  1

70. X¯+KTe⁄ uÛÑ÷yÓ’XÊ\´+ 38.5 ôd+.MT2,  |òüTq |ü]e÷D+ 77 |òüT. ôd+.MT. nsTTq <ëì m‘·TÔ ..............
ôd+{° MT≥s¡T¢ ( )
If the base area of cone is 38.5 cm2 , and it’s volume is 77 cm3 then it’s height is .................. cm.

(A)    6 (B)  9 (C)  12 (D)   3

71. (2,-3), (5,6)  _+<äTe⁄\qT ø£*ù| πsK X - nø£åeTTqT $uÛÑõ+#˚ ìwüŒ‹Ô .............. ( )
The ratio in which the line joining the points (2,-3), (5,6) divided the X - axis is ...........

(A)    1 : 2 (B)  2 : 1 (C)  1 : 1 (D)   1 : 3

72. 24 ôd+.MT., 32 ôd+.MT\T ø£sêí\ bı&Ée⁄\T ø£*–q sê+ãdt #·T≥Tºø=\‘· .......... ôd+.MT. ( )
The lengths of diagonals of a Rhombus are 24 cm and 32 cm then the perimeter of the Rhombus is

....................

(A)    40 (B)  80 (C)  35 (D)   160

73. ¬s+&ÉT düs¡÷|ü Á‹uÛÑTC≤\ nqTs¡÷|ü uÛÑTC≤\ ìwüŒ‹Ô 4:9 nsTTq yê{Ï #·T≥Tºø=\‘·\ ìwüŒ‹Ô m+‘·?( )
The ratio of corresponding two sides of two similar triiangles is 4:9 then the ratio of their perimeters

......................

(A)    2 : 3 (B)  4 : 9 (C)  16 : 81 (D)   9 : 4

74. rABC Ûç̋ À  a2 = b 2 + c2 nsTTq ................. e<ä› \+ãø√D+ e⁄qï~. ( )
In rABC if  a2 = b 2 + c2 then right angle at ..............

(A)    

A

(B)  

B

(C)  

C

(D)  None of these

(A)    

A

(B)  

B

(C)  

C

(D)  @Bø±<äT

75.   

5

x

, 

4

x

, 

2

x

,

3

x

 \ eT<Ûä́ >∑‘·+ 8 nsTTq x $\Te  ............. ( )

Median of  

5

x

, 

4

x

, 

2

x

,

3

x

 is 8 then x = ............................

(A)    32 (B)  24 (C)  16 (D)  4

76. 6 ôd+.MT. yê´kÕs¡∆+ >∑\ ̌ ø£ eè‘·Ô πø+Á<ä+ qT+&ç u≤Vü≤´ _+<äTe⁄≈£î >∑\ <ä÷s¡+ 10 ôd+.MT. nsTTq Ä düŒs¡Ù
πsK bı&Ée⁄ ...................... ( )
The distance of a point from it’s centre whose radius of circle 6 cm is 10 cm then length of Tangent

is ..................

(A)    16 cm (B)  12 cm (C)  10 cm (D)  5 cm
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77. düŒs¡Ù πsK nqT |ü<äeTTqT Á|üy˚X¯ô|{Ïºq yês¡T mes¡T? ( )
Who introduced the word “Tangent” ?

(A)  Äs¡́  uÛÑ≥º (B)  s√Hê˝Ÿº m. |òæwüsY (C)  <∏ëeTdt |òædæÿ (D)  j·T÷øÏ¢&é
(A)  Aaryabhatta (B)  Ronald a Fisher (C)  Thomas Fisci (D)  Euclid

78. yÓTT≥ºyÓTT<ä{>± SINE nqT |ü<ëìï dü÷ø£åà+>± sin>± ñ|üjÓ÷–+∫q >∑DÏ‘· XÊÁdüÔy˚‘·Ô mes¡T? ( )
The first mathematician who used “SINE” as simply  “sin” ?

(A)  m&Éà+&é >±+≥Hé (B)  Äs¡́ uÛÑ≥º (C)  j·T÷øÏ¢&é (D)  uÛ≤düÿsê#ês¡́
(A)  Edmand Gantan (B)  Aaryabhatta (C)  Euclid (D)  Bhaskaracharya

79. 7,7,7,6,6,6,5,5,5,4,4,3,3,2,1 \ u≤VüQfi¯óø£+ .............. ( )
The mode of  7,7,7,6,6,6,5,5,5,4,4,3,3,2,1 is ...........

(A)  7 (B)  7, 6 (C)  7, 6, 5 (D)  Not Exist

(A)  7 (B)  7, 6 (C)  7, 6, 5 (D)  e´edæ∆‘·+ ø±<äT
80. P (E) = 0.809 nsTTq P (

E

) .............. ( )
If P (E) = 0.809 then P (

E

) .................

(A)  0.29 (B)  0.201 (C)  0.199 (D) 0.191

uÛÖ‹ø£ s¡kÕj·Tq XÊÁdüÔ+ PHYSICAL SCIENCES (10 Marks)

81. Ä˝≤ÿVü‰˝Ÿ kÕ<Ûës¡D bòÕs¡Tà˝≤  ....................... ( )
The general formula of alcohols is ...................

(A)  R - C - H (B)  R - C - H (C)  R - C - O - R1 (D) None of these

82. õ+ø˘ u…¢+&é bòÕs¡Tà˝≤ .............. . ( )
Zinc Blend formula ............

(A)  Pbs (B)  Hgs (C)  Zns (D) H
2
s

83. ˇø£ k˛*HêsTT&é Bì e …̋ Á|üe]ÔdüTÔ+~ .....................
(A)  >∑TÁs¡|ü⁄Hê&É nj·TkÕÿ+‘·+ (B)  <ä+&Éj·÷kÕÿ+‘·+
(C)   e\j·÷ø±s¡ nj·TkÕÿ+‘·+ (D)  @Bø±<äT ( )
A Solenoid behaves like a ..............

(A)  Horse shoe magnet (B)  Bar Magnet

(C)  Ring Magnet (D) None of these

84. e÷qe X¯Øs¡+ qT+&ç ñwüí X¯øÏÔ ãj·T≥≈£î Á|üdü]+∫q|ü⁄&ÉT bı+<˚ nqTuÛÑ÷‹ @$T{Ï?
When heat energy flows out from our body, we experience, ( )
(A)  y˚&ç>± (B)  #·\¢>± (C)  A & B (D)  A Ò̋<ë  B
(A)  Hotness (B)  Coldness (C)  A & B (D) A or B

85.

2 2

Heat
Cuo H Cu H o+ → +

( )

ô|’ s¡kÕj·Tq düMTø£s¡D˝À ....................... ø£åj·Tø£s¡D+ #Ó+<äTqT.
In the above chemical equation ................... is reduced.

(A) Cu (B)  H
2

(C)  Cuo (D) H
2
O
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86. ˇø£ ø£≥ø£+ jÓTTø£ÿ eÁø£‘ê yê´kÕsê∆ìøÏ eT]j·TT HêuÛ≤´+‘·sêìøÏ eT<Ûä́  >∑\ dü+ã+<Ûä+ @~?
The relation between radius of curvature and focal length of a mirror is .......( )

(A) R  = 2 f (B)  f  = 2 R (C)  f  = R/2 (D) A ̋ Ò<ë C
(A) R  = 2 f (B)  f  = 2 R (C)  f  = R/2 (D) A or C

87. $T<∏Ó’̋ Ÿ Ä¬s+CŸ dü÷∫ø£ s¡+>∑T @~? ( )

The color methyl orane in alkali conditions ?

(A) ms¡T|ü⁄ (B)  ˙\+ (C)  Hê]+» s¡+>∑T (D) |üdüT|ü⁄
(A) Red (B)  Blue (C)  Orange (D) Yellow

88. ø£≥ø£ bòÕs¡Tà˝≤? ( )

Lens formula  ?

(A) 
1 1 1

f v u
= + (B)  

1 1 1

f v u
= −

(C)   

1 1 1

u f v
− =

(D)   None of these

(A)  

1 1 1

f v u
= +

(B)   

1 1 1

f v u
= −

(C)   

1 1 1

u f v
− =

(D)   @Bø±<äT

89. $<äT´<äj·TkÕÿ+‘· πøåÁ‘·+ .................qT bÕ{Ï+#·TqT. ( )

................ takes place in electromagnetic Induction process

(A) X¯øÏÔ ` ì‘·́ ‘·«+ (B)  Á<äe´ ì‘·́ ‘·«+ (C)  A ̋ Ò<ë B (D) @Bø±<äT
(A) Conservation of energy (B)  Conservation of mass

(C) A or B (D)  None

90. Eka -  Boron  nq>± ( )

Eka -  Boron means ..........................

(A) f…Æ{≤ìj·T+ (B)  H˚$j·T+ (C)  kÕÿ+&çj·T+ (D) Áø√$Tj·T+
(A) Titanium (B)  Navium (C) Scandium (D) Chromium

kÕ+|òæTø£ XÊÁdüÔ+ SOCIAL  (20 Marks)

91. C≤rj·T ÄVü‰s¡ uÛÑÁ<ä‘ê #·≥º+ ÄyÓ÷<ä+ bı+~q dü+e‘·‡s¡+ @~? ( )
National food security act passed in which year?

(A) 2014 (B)  2015 (C)  2011 (D) 2013

92. ø£+ø£s¡ eT]j·TT >∑T\ø£sêsTT e+{Ï neπøå|ü \ø£åD≤\‘√ ñqï H˚\qT @eT+{≤s¡T? ( )
The land which has Gravel and Pebble sediments features is known as  ..............

(A) uÛÑ+>∑sY (B)  U≤<äsY (C)  u≤ãsY (D) f…sêsTT
(A) Bhangar (B)  Khadar (C)  Babar (D) Terayi
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93. uÛ≤s¡‘· B«|üø£\Œ+ <˚ì˝À uÛ≤>∑+............... ( )
The India peninsula  was a part of ................

(A) ˝≤πswæj·÷ (B)  n+>±s¡ (C)  >√+&Ü«q (D) A & B

(A) Laurasia (B)  Angara (C)  Gondwana (D) A & B

94. ¬s+&Ée Á|ü|ü+#· j·TT<ä∆+ |òü*‘·+>± 1945˝À Ä$s¡“¤$+∫q dü+dü∆ @~? ( )
By the result of 2nd world war, which was formed in 1945?

(A) WHO (B)  WTO (C)  UNESCO (D) UNO

95. Ä<ÛäTìø£ #Ó’Hê ìsêà‘· mes¡T? ( )
Who is the founder of modern China?

(A) ø°«Hé w” Vü≤+>¥ (B)  VüQj·÷Hé #·Áø£e]Ô
(C)  E j·TTyêHê®+>¥ (D) düHé j·T{Ÿ ùdHé
(A) Qin shi Huang (B)  Emperor Wu of Han

(C)  Zhu Yuanzhang (D) Sun - yat - sen

96. uÛ≤s¡‘· <˚X¯+˝À dü÷s¡T´&ÉT yÓTT<ä≥>± m≈£ÿ&É ñ<äsTT+#·TqT? ( )
Where was the sun rises first in India?

(A) ns¡TD≤#·̋ Ÿ Á|ü<˚XŸ (B)  dæøÏÿ+ (C)  y˚T|òü÷\j·T (D) >∑T»sê‘Y
(A) Arunachal Pradesh (B)  Sikkim

(C)  Meghalaya (D) Gujarath

97. ù|<äyê]øÏ ÄVü‰s¡ <ÛëHê´\T me] <ë«sê düs¡|òüsê #˚j·Tã&ÉT‘·THêïsTT? ( )
By whoom the food grains supply for the poor people?

(A) P.D.S. (B)  W.H.O (C)  I.L.O. (D) W.T.O.

98. <∏ësY m&Ü]˝À Á|üeVæ≤+#˚ π̌ø ˇø£ÿ q~ @~? ( )
The only river flows in the Thar desert is ................?

(A) ‘·|ü‹ (B)  \÷ì (C)  qs¡à<ä (D) j·TeTTq
(A) Tapati (B)  Luni (C)  Narmada (D) Yamuna

99. A.F.S.P.A. (1958) |üP]Ô ù|s¡T? ( )
Full form of A.F.S.P.A. (1958) is ?

(A) Armed forced special power Act

(B)  American foreign service protective association

(C)  Armed force provision Act

(D) American foreign special police aviation

100. q÷´&û̋ Ÿ bÕ\d” (New Deal Policy) ì Á|üø£{Ï+∫q~ mes¡T? ( )
The New Deal Policy was announced by .......................

(A) s¡÷C…«˝Ÿº (B)  *+ø£Hé (C)  #·]Ã˝Ÿ (D) u…]¢Hé
(A) Roosevelt (B)  Lincon (C)  Churchil (D) Berlin


